Contract 23-29 - Building D	emolitions (#8809	0107)		1 1				
Owner: Oshkosh WI, City o								
Solicitor: AECOM								
Bid Opening: 12/04/2023 11	00 AM CST							
bid Opening: 12/04/2023 11	:00 AWI C31							
					Water Constant	-the Community	A 1	at weather a Tara
					Vinton Constru	1	Advance Con	struction Inc.
					PO Bo			
					Manitowoo	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section I: Work Unit A						\$64,179.40		\$123,335.60
		Mobilization; complete as						
	A1050	specified	Lump Sum	1.00	\$8,500.00	\$8,500.00	\$15,750.00	\$15,750.00
		Removing pavement;						
	A1100	complete as specified	Square Yards	1,559.00	\$4.90	\$7,639.10	\$6.40	\$9,977.60
		Building demolition;						
	A1150	complete as specified	Lump Sum	1.00	\$9,500.00	\$9,500.00	\$35,000.00	\$35,000.00
		Utility service removal;						
	A1160	complete as specified	Lump Sum	1.00	\$8,400.00	\$8,400.00	\$15,000.00	\$15,000.00
		Light pole removal;						
	A1170	complete as specified	Each	4.00	\$100.00	\$400.00	\$275.00	\$1,100.00
		Sawing existing						
		pavement; complete as						
	A1700	specified	Linear Feet	67.00	\$4.00	\$268.00	\$6.00	\$402.00
		Remove and replace						
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	A1904	complete as specified	Square Yards	39.00	\$140.00	\$5,460.00	\$212.00	\$8,268.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	A2508	complete as specified	Each	1.00	\$150.00	\$150.00	\$140.00	\$140.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	A2510	specified	Each	1.00	\$50.00	\$50.00	\$25.00	\$25.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	A2512	specified	Each	1.00	\$0.01	\$0.01	\$1,200.00	\$1,200.00
		Furnish; install; maintain;						
		and remove silt fence;						
	A2514	complete as specified	Linear Feet	500.00	\$3.00	\$1,500.00	\$2.40	\$1,200.00
		Furnish and install						
		topsoil 6" depth;						
	A2600	complete as specified	Square Yards	1,559.00	\$3.50	\$5,456.50	\$7.20	\$11,224.80
		Install salvaged topsoil 6"						
		depth; complete as						
	A2602	specified	Square Yards	1,258.00	\$1.75	\$2,201.50	\$5.00	\$6,290.00

Contract 23-29 - Building Der	molitions (#8809	9107)						
Owner: Oshkosh WI, City of								
Solicitor: AECOM								
Bid Opening: 12/04/2023 11:0	0 AM CST							
Biu opening. 12/01/2020 11.0								
					Vinton Constru	ction Company	Advance Con	struction Inc
					PO Bo	1 ,	Auvalice Coll	struction me.
					Manitowoo			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install no-						
		mow fescue; complete as						
	A2622	specified	Square Yards	2,817.00	\$1.11	\$3,126.87	\$1.25	\$3,521.25
		Furnish and install						
		hydraulically-applied						
		erosion control product;						
	A2644	complete as specified	Square Yards	2,817.00	\$0.52	\$1,464.84	\$1.35	\$3,802.95
		Strip and stockpile						
		topsoil; complete as						
	A2902	specified	Square Yards	1,258.00	\$0.01	\$12.58	\$3.00	\$3,774.00
		Import clay material;						
	A2932	complete as specified	Cubic Yards	500.00	\$15.00	\$7,500.00	\$12.00	\$6,000.00
		Furnish and install clay						
		dams; complete as						
	A2937	specified	Each	3.00	\$850.00	\$2,550.00	\$220.00	\$660.00
Section II: Work Unit B						\$142,717.33		\$248,635.60
		Mobilization; complete as						
	B1050	specified	Lump Sum	1.00	\$16,000.00	\$16,000.00	\$15,750.00	\$15,750.00
		Removing pavement;	-					
	B1100	complete as specified	Square Yards	1,258.00	\$4.90	\$6,164.20	\$7.40	\$9,309.20
		Building demolition;	•					
	B1150	complete as specified	Lump Sum	1.00	\$45,000.00	\$45,000.00	\$100,000.00	\$100,000.00
		Utility service removal;	1					
	B1160	complete as specified	Lump Sum	1.00	\$8,400.00	\$8,400.00	\$20,000.00	\$20,000.00
		Light pole removal;	1					
	B1170	complete as specified	Each	1.00	\$100.00	\$100.00	\$350.00	\$350.00
		Sawing existing						
		pavement; complete as						
	B1700	specified	Linear Feet	90.00	\$4.00	\$360.00	\$4.00	\$360.00
		Remove and replace						
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	B1904	complete as specified	Square Yards	24.00	\$140.00	\$3,360.00	\$220.00	\$5,280.00
	51704	Furnish; install; maintain;	Square raius	24.00	φ140.00	ψ0,000.00	φ220.00	ψ0,200.00
		and remove Type D						
		modified inlet protection;						
	B2508	complete as specified	Each	6.00	\$150.00	\$900.00	\$140.00	\$840.00
	D2000	complete as specified	Each	6.00	\$150.00	\$900.00	\$140.00	₽840.00

Contract 23-29 - Building Dem	olitions (#8809	107)						
Owner: Oshkosh WI, City of		10//						
Solicitor: AECOM								
Bid Opening: 12/04/2023 11:00	AMCET							
Bid Opening: 12/04/2023 11:00	AM C51							
								· ·: •
					Vinton Construc		Advance Cons	struction Inc.
					PO Box			
					Manitowoc,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	B2510	specified	Each	6.00	\$50.00	\$300.00	\$20.00	\$120.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	B2512	specified	Each	1.00	\$0.01	\$0.01	\$1,200.00	\$1,200.00
		Furnish; install; maintain;						
		and remove silt fence;						
	B2514	complete as specified	Linear Feet	860.00	\$3.00	\$2,580.00	\$3.00	\$2,580.00
		Furnish and install						· · · ·
		topsoil 6" depth;						
	B2600	complete as specified	Square Yards	6,144.00	\$2.35	\$14,438.40	\$8.00	\$49,152.00
		Furnish and install no-	1	,				. ,
		mow fescue; complete as						
	B2622	specified	Square Yards	6,144.00	\$1.11	\$6,819.84	\$1.25	\$7,680.00
		Furnish and install	- 1	0,2 2 2000	4	+ 0/0 - 1 10 -	4	41)000000
		hydraulically-applied						
		erosion control product;						
	B2644	complete as specified	Square Yards	6,144.00	\$0.52	\$3,194.88	\$1.35	\$8,294.40
	52011	Import clay material;	Square rarus	0,111.00	ψ0.02	φ0,171.00	φ1.00	φ0,291.10
	B2932	complete as specified	Cubic Yards	2,500.00	\$13.70	\$34,250.00	\$11.00	\$27,500.00
	52762	Furnish and install clay	Cubic Turus	2,000.00	¢10.70	401,200.00	φ11.00	¢27,500.00
		dams; complete as						
	B2937	specified	Each	1.00	\$850.00	\$850.00	\$220.00	\$220.00
Alternate 1: Work Unit C (To		specified	Each	1.00	\$650.00	\$110,750.00	\$220.00	\$311,250.00
Alternate 1: Work Onit C (10	be Awalueu)	Mobilization; complete as				\$110,750.00		\$511,250.00
	C1050 1		T	1.00	¢9 500 00	#8 F00 00	¢5 500 00	¢E 500.00
	C1050-1	specified Furnish; install; maintain;	Lump Sum	1.00	\$8,500.00	\$8,500.00	\$5,500.00	\$5,500.00
		and remove 12" diameter						
		sediment logs; complete		1 500 00	<i>**</i> - *		## ~~	A
	C2518-1	as specified	Linear Feet	1,500.00	\$6.50	\$9,750.00	\$8.00	\$12,000.00
		Remove and replace						
		wellhead; valve; and						
		bulkhead manholes;	_					
	C3991-1	complete as specified	Each	25.00	\$3,700.00	\$92,500.00	\$11,750.00	\$293,750.00
Alternate 2: Work Unit D (To	Be Awarded)					\$49,419.01		\$31,542.00
		Mobilization; complete as						
	D1050-2	specified	Lump Sum	1.00	\$6,000.00	\$6,000.00	\$3,750.00	\$3,750.00

Contract 23-29 - Building I	Demolitions (#8809	9107)						
Owner: Oshkosh WI, City	of							
Solicitor: AECOM								
Bid Opening: 12/04/2023 1	1:00 AM CST							
					Vinton Constru	ction Company	Advance Con	struction Inc.
					РО Во			
					Manitowoo	e, WI 54221		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Remove and dispose of						
		waste pile; complete as						
	D1225-2	specified	Tons	2,100.00	\$17.86	\$37,506.00	\$10.00	\$21,000.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	D2512-2	specified	Each	1.00	\$0.01	\$0.01	\$1,200.00	\$1,200.00
		Furnish; install; maintain;						
		and remove silt fence;						
	D2514-2	complete as specified	Linear Feet	355.00	\$3.00	\$1,065.00	\$2.40	\$852.00
		Furnish and install						
		topsoil 6" depth;						
	D2600-2	complete as specified	Square Yards	600.00	\$6.45	\$3,870.00	\$5.40	\$3,240.00
		Furnish and install no-						
		mow fescue; complete as						
	D2622-2	specified Furnish and install	Square Yards	600.00	\$1.11	\$666.00	\$1.25	\$750.00
		hydraulically-applied						
	Davida	erosion control product;		(00.00	*** -*	#C12 00	<i>**</i> * *	#== 0.00
D' J T- (-1	D2644-2	complete as specified	Square Yards	600.00	\$0.52	\$312.00	\$1.25	\$750.00
Bid Total:						\$367,065.74		\$714,763.20